R s i ML Y S

i)

/
111# %1%
s i BRI A =X K AR (D B N O
—‘:Z\J. g N —é,l. g %‘J»
a0 30,077 26,105 3,972 2,149 1,929 220 1,984 165 106 59
0 20,977 17,626 3,351 1,843 1,652 191 1,726 117 71 46
v B AR @ 9,082 8,461 621 306 277 29 258 48 35 13
Rl 18 18 - - - - - - - -
L FSL6) 586 478 108 297 238 59 255 42 28 14
- REIG 577 469 108 292 235 57 250 42 28 14
2 10 - - - 5 3 2 5 -
=R 9 9 - - - - - - - -
R 3,953 3,403 550 276 260 16 268 8 4 4
B4R 3,953 3,403 550 276 260 16 268 8 4 4
> 1,%&, LR - - - - - - - - - -
¢ o2 K 3,429 2,827 602 266 243 23 259 7 3 4
B4R 3,417 2,827 590 264 243 21 257 7 3 4
> B4 R 12 - 12 2 - 2 2 - - -
% WA K 4,460 3,360 1,100 275 237 38 268 7 2 5
BB AR 4,460 3,360 1,100 269 234 35 263 6 2 4
2 B AR - - - 6 3 3 5 1 - 1
= x e - - - - - - - - - -
L2RA 2,059 1,762 297 160 144 16 155 5 1 4
BB AR 2,059 1,762 297 159 144 15 155 4 1 3
2 B4R - - - 1 - 1 - 1 - 1
*% AN ~ - - - - - - - - - -
FHRER: p XL R gAF F3
. m 1@9—\/\ﬁég§;§§./\ﬁ\—é,t;}§2~/\ﬁ\Fsgfg.kﬁiﬁia'/\ﬁ
2o W MARA S A R RN (H) MR mrﬁ@iﬁgﬁw%i*%%w(ﬁ)ﬁ% 1%9*$?*€iJ@Fﬁﬁﬁﬁ%’?&*@EW%ﬁ&%L%?°
MMl A M AL H s AR E A S s g BB AR pNE Rk R IR B ’iaﬂﬁw LA AR B B R BT
i Bl AT TER SR B B FIVES o Rl 2 gt AF RS B R %“W%%&ﬁ%fﬁﬁilwiwﬁ‘ﬁﬁﬁﬁﬁw
astRal Stk S S (AR I
AAZGRFRS MM B oW AR ST R



A F o BRENR (B2 2) (HD)
111% %1%
B B3 CX; RREE i 4R
3+ g | & il I R 3+ g e g
EE LSS 3,036 2,656 380 327 304 23 318 301 17 9 3 6
A Eﬁk A R 3,036 2,656 380 327 304 23 318 301 17 9 3 6
> 1,%&, A ﬁ - - - - - - - - - - - -
La s g 1,304 1,233 71 130 117 13 122 112 10 8 5 3
A l%k A R 1,304 1,233 71 130 117 13 122 112 10 8 5 3
2 B A B - - - - - - - - - - - -
TR A & 8,739 8,240 499 271 262 9 228 227 1 43 35 8
A l%k | 311 305 6 32 31 1 27 27 - 5 4 1
© B A B 8,419 7,926 493 239 231 8 201 200 1 38 31 7
R 9 9 - - - - - - - - - -
A% 1,472 1,300 172 138 119 19 104 94 10 34 25 9
A l%k | 867 803 64 89 81 8 61 60 1 28 21 7
v B A B 605 497 108 49 38 11 43 34 9 6 4 2
e A 1,039 846 193 9 5 4 7 5 2 2 - 2
A E%k | 993 808 185 5 3 2 5 3 2 - - -
2 E%k | 46 38 8 4 2 2 2 2 - 2 - 2

£




R T U

g d) (§2)

111# %1%
i B A ER L IO = RN A0
3 g | & 3 g = i & > | 3 *
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